Pre-Calculus Name
Review Ch. 4.1-4.3,5.5-5.6

Convert to degrees or radians. Round to the nearest hundredth where necessary.
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Find the 6 trig functions for an angle whose terminal side contains the given point. -5
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Identify in which quadrant the angle is located. T l C
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NO Calculator Find the trigonometric ratio.
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Solve the triangle. Then find the area of the triangle. Round to the nearest hundredth. If there are two
triangles, you must solve each of them.
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19) ACAT, m/C =40°, a=8, c =4
7

3 /N 4 ASS - how mamy L s !
C 45
h=B851nH0"= 5,1 >4
)NOA fﬁ

20) AHAT, mz/H =50°, a=12, h=10

A 0% = b% 127 = 2 () E)os 50 (
’ N O = 4% ~(QHcos(50)) + U L
H A $=31¢, 165
he 125MSs0 =92 <10
2 As _
12 7 'z (o mET snaller ¢
° & o
© , o 5\11\% () SIV‘ T
h gonx A prea %(%.WQ(‘%“@ ones A 5" .05

< T srvallex s [t = 6318

50 _ s T M= Az [pp. 37

10 2.3
MmCT = ((,.82° | fnd A= ‘16,1 ° Am&' %[IZ)UL@S% din S’Oo
3
Find the bearing. Compass rose will be gi/\vww.: ) 7 54. 595 /

21) NNW 3(1)06-27. g’
= 2271 . O |
22) SE Qoris = [ |35

23) enge J0-22.5 -




